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komunikacja 55 3,2 176 1 200(- - N1 -
Szatnia 1 18,6 3,2 59,52 5 300 300]- N1 WSZ
Przedsionek wc 710 N1
Szatnia 2 20,1 3,2 64,32 5 320 320]- N1 WSZ
Szatnia 3 14,2 3,2 45,44 5 220 220]- N1 WSZ
Szatnia 4 12,7 3,2 40,64 5 200 200]- N1 WSZ
Przedsionek wc 100]- N1
magazyn 32 3,2 102,4 1,5 154|- WM
sala 114 3,2 364,8 2 730 730 NS WS
toalety 150 WC1
toalety 250 WC2
wymiennikownia 50 A
konserwator 30 WK
P. gos¢ 14,7 2,7 39,69 120 120 4|N2 W2
biuro dyrektora 12,5 2,7 33,75 90 90 3[N2 W2
sala konf. 8,5 2,7 22,95 150 150 5[N2 W2
sekretariat 8,7 2,7 23,49 60 60 2[N2 W2
komunikacja 16,7 2,7 45,09 1,5 69 69 N2 W2
Biuro 1 10 2,7 27 90 90 3|N2 W2
Biuro 2 10 2,7 27 90 90 3|N2 W2
Biuro 3 10 2,7 27 90 90 3|N2 W2
Biuro 4 10 2,7 27 90 90 3|N2 W2
Biuro 5 14,6 2,7 39,42 150 150 5|N2 W2
toaleta 100 WC3




